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49.  Which of the following statements are correct regarding ‘One Health approach’ , sometimes seen in 
news:  

 1.   The concept of one health approach is based on the trinity of environmental health,  human health and 
animal health.  

 2.   The world health assembly has recently called for inclusion of zoonotic diseases as part of  this approach.  
 Which of the above given statements is/are correct?  
 (a) 1 only  (b) 2 only  (c) Both 1 and 2  (d) Neither 1 nor 2  
50.  Consider the following statements regarding ‘Open Skies treaty’ :  
 1.   It is an agreement that allows its signatories countries to monitor arm development by  conducting armed 

surveillance flights  over each other’s territories.  
 2.   The treaty came into effect recently in 2019.  
 3.   India is not a member of the treaty.  
 Which of the above given statements is/are correct?  
 (a) 1 only  (b) 3 only  (c) 1 and 3 only  (d) 2 only  
51.  Consider the following statements with respect to trends in Indian government debt performance:  
 1.  The debt to GDP ratio has seen a declining trend since 2011-12.  
 2.  Most of the government debt is short term with maturity less than one year.  
 3.  Most of the government debt is of fixed interest rates.  
 4.  Gross Fiscal Deficit (GFD) as a percentage of GDP has been on a declining trend since  2012-13.  
 Which of the above given statements is/are correct?  
 (a) 1 and 2 only  (b) 1,3 and 4 only  (c) 2 and 4 only  (d) 1 and 3 only  
52.  With reference to ‘Blackbuck’ (Indian Antelope), consider the following statements:  
 1.  The blackbuck is a diurnal antelope (active mainly during the day).  
 2.  Males often adopt lekking as a strategy to garner females for mating.  
 3.  In India, hunting of blackbuck is prohibited under Schedule I of the Wildlife Protection  Act of 1972.  
 4.  It is categorized as ‘Endangered’ on the IUCN Red List.  
 Which of the above given statements is/are correct?  
 (a) 1,2 and 3 only  (b) 1,3 and 4 only  (c) 2 and 3 only  (d) 1,2,3 and 4  
53.  Consider the following statements regarding ‘Styrene’ , recently in news:  
 1.  It is an inorganic compound used in the manufacture of polymers/plastic/resins.  
 2.  It is a colourless liquid and has the ability to react with oxygen in air to form a lethal  styrene dioxide.  
 3.  Styrene is stored at low temperature around 15-20 degree celsius to prevent its  autopolymerization.  
 4. Long term exposure to styrene can affect the nervous system of human beings.  
 Which of the above given statements is/are correct?  
 (a) 1,2 and 3 only  (b) 2,3 and 4 only  (c) 1 and 4 only  (d) 1,3 and 4 only  
54.  ‘Climate Adaptation and Resilience for South Asia (CARE)’ Project has been approved by which of the 

following international organizations?  
  (a) World Bank   (b) World Economic forum(WEF)   
 (c) United Nation development programme(UNDP)  (d) United Nation environment programme(UNEP)  
55.  Consider the following pairs with regard to recently granted GI tag:  
       GI tag Product                           State  
 1. Kovilpatti kadalai mittai       Telangana  
 2. Chak-Hao                              Manipur  
 3. Sohrai Khovar painting         Jharkhand  
 4. Telia Rumal                          Tamil Nadu  
 Which of the above given pairs is/are correctly matched?  
 (a) 1 and 2 only  (b) 1 and 4 only  (c) 2 and 3 only  (d) 3 and 4 only  
56.  Consider the following statements regarding ‘Champions Portal’, seen in news recently:  
 1.  The portal aims to assist Indian MSMEs march into the big league as National and  Global CHAMPIONS 

by solving their grievances and encouraging, supporting, helping  and hand holding them.  
 2.   It is integrated on a real time basis with the Government of India’s main grievances  portal Centralized 

Public Grievance redress and Monitoring system(CPGRAMS).  
 3.   It has been launched by the Ministry of Micro, small and medium enterprises(MSME).  
 Which of the above given statements is/are correct?  
 (a) 1 and 2 only  (b) 2 and 3 only  (c) 1 and 3 only  (d) 1,2 and 3  


